VM MG
T e HANSAVFLEX

]

BO1 KEINRE, B AT
BHEX1 B

#gO2 KEISNIRS, B AT

BHER 2 24°R#
gges BEAR IR EE

-2 2F BEE
Y DIN 2353
ISO 8434-1
HesEE RSB EE
R$ #Hi
2
BRER., FA, ENAFENATHTHERENHABESHERRERNERER,
4

ZHRY ITHEEIE EHNROD (€

(mm)

VM NW 04 HL MG L PN 200 6 M 10 x1 14 8 23,0 8,5 14 14
VM NW 06 HL MG L PN 200 8 M12x1.5 17 12 25,0 10,0 17 17
VM NW 08 HL MG L PN 200 10 M14x1.5 19 12 26,0 11,0 19 19
VM NW 10 HL MG L PN 200 12 M16x1.5 21 12 27,0 12,5 22 22
VM NW 13 HL MG L PN 160 15 M18x1.5 23 12 29,0 13,5 24 27
VM NW 16 HL MG L PN 160 18 M22x1.5 27 14 31,0 14,5 27 32
VM NW 20 HL MG L PN 100 22 M26x1.5 31 16 33,0 16,5 32 36
VM NW 25 HL MG L PN 100 28 M 33 x2 39 18 34,0 17,5 41 M
VM NW 32 HL MG L PN 100 35 M 42 x 2 49 20 39,0 17,5 50 50
VM NW 03 HS MG S PN 250 6 M12x1.5 17 12 28,0 13,0 17 17
VM NW 04 HS MG S PN 250 8 M14x1.5 19 12 30,0 15,0 19 19
VM NW 06 HS MG S PN 250 10 M16x 1.5 21 12 31,0 15,0 22 22
VM NW 10 HS MG S PN 250 14 M20x1.5 25 14 37,0 19,0 27 27
VM NW 20 HS MG S PN 160 25 M 33 x2 39 18 47,0 23,0 41 46
ZHRILL=3FER =B S=E - PN=#IEEH PB=8BAIKEDL - 0=EHER

FRER
VM BEARBASELRE 6
VMVA EARRIIER, THEN

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
24.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



